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e LF2b . Aktiver Erddruck auf den Schenkel aus groRRflachiger Auflast (standig, flr: o = Olyay, 02 = @1')
Laststellung 3, p, ab Punkt "E"
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= . *sin 9, = 224 *sin 60,00 = 2,20
a " sin(180- 9, - @) "V T sin( 1800 - 60,00 - 3000) o O - oesem
h13 = a*sin ((D') = 2,20 * sin 30,00 = 1110 m
hl4 = hl_ h13 4,40 - 1,10 3,30 m
h15: h16 = hl4/2 = 3,30 / 2 = 1,65 m
I3 = hys/tan 9, = 1,65 /tan 60,00 = 09 m
|l4 = |4' |13 = 3,60 - 0,95 = 2,65 m
y ( cos (¢, — Ol 2
h = - - - -
* cos ot |1+ sin (@' + 3,) * sin (¢!’ - B)
cos (a - B) * cos (a + 3,)
‘ _ cos (30,00 - 30,00 ) 2
i cos 3000 *|1+ —|sin ( 30,00 + 30,00)*sin (30,00 - 0,00 )
L ' cos( 30,00 - 0,00 )*cos( 30,00 + 30,00)
( 1,000 2
Kagn = . = 0,333 -
0,866 * |1+ —| 0.866 * 0,500
L 0,866 * 0,500
cos a * cos 3 cos 30,00 *cos 0,00
k = k = ! ! * = -
aph cos (a - PB) agh cos ( 30,00 - 0,00 ) 0,333 0,333
€aph k = P * Kapn = 350 * 0,333 = 1,17 kN/m2
Eapnik = €aphk “Nig = 1,17 * 3,30 = 3,85 kN/m
Eapvlyk = Eaphlvk*tan(amax'i'(Pll) = 3,85 * tan( 30,00 + 30,00) = Q,ﬂ kN/m




